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&5t 1,015 1,085 1,290 2,000 1,233 21 1.7
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25%ile 50%ile 75%ile xHAE AR (M) | IR (%)
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LAKHERA) BIEER] A LR
25%ile 50%ile VAL xHAE AR (M) | IR (%)
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BP9 - BT 1,170 2,000 2,000 2,000 1,625 -51 -3.0
BT R —E R 950 976 1,030 1,000 1,032 51 5.2
EHB 950 1,000 1,020 950 1,006 -27 -2.6
HREY—E R 950 960 1,000 960 982 9 0.9
BLERE - RS/ \—H 960 1,000 1,150 1,000 1,081 45 4.3
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LAKHERA) AIEERE A HEg

25%ile 50%ile 75%ile xHAE EifE | BIREE () | 1BIRER (%)
P AT 1,155 1,875 2,000 2,000 1,604 -68 -4.1
BRE - R —E R 950 960 1,000 950 1,002 10 1.0
230 960 1,000 1,150 1,000 1,042 82 8.5
HhEY—E X 950 955 980 955 975 13 1.4
BUEREE RS A /B 960 1,000 1,100 1,000 1,036 8 0.8
B AT URE 950 1,000 1,050 1,000 1,018 35 3.6
ZFDith 1,100 1,100 1,100 1,100 1,109 144 14.9
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25%ile 50%ile 75%ile xHAE EifE | BIREE () | 1BIRER (%)
P - B fiT R 1,200 2,000 2,000 2,000 1,682 284 20.3
BT —E RB 909 945 1,000 900 965 15 1.6
EIEH 950 1,000 1,020 1,000 1,012 29 3.0
BRE Y —F RBY 930 970 1,000 1,000 972 10 1.0
SUERSE RS/ \—B 930 995 1,020 1,000 1,001 -2 -0.2
BRAVTFURE 940 980 1,000 1,000 983 4 0.4
Z0th 1,000 1,100 1,100 1,100 1,056 79 8.1
&5t 950 1,000 1,400 2,000 1,239 105 9.3
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SHl [REAECRER 1,031 OB o [FEE BER5yD 972
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SHRIANIL I S— 1,289 SHIRAEEN 949
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aVE= 945 RoAN—H Rt L 972
A—IN\— 967 BREEEREIEEE 1,012
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BT 3T & (KRAF. EEE. AR

AIDEM

K= F 74 FOBEE TR~ 202150 A R RE~

LAKHERA) AIEERE A HEg
25%ile 50%ile 75%ile xHAE AR (M) | IR (%)
BP9 BufiThs 1,200 2,000 2,000 2,000 1,653 210 14.6
RS- R Y —E R 910 958 1,000 900 967 3 0.3
EX ] 970 1,000 1,050 1,000 1,026 26 2.6
rEH—F RE 964 1,000 1,000 1,000 993 15 1.5
BUERE - RS\ 970 1,000 1,050 1,000 1,026 -2 -0.2
SER AT U R 964 995 1,000 1,000 994 3 0.3
ZF0its 1,000 1,050 1,100 1,000 1,060 57 5.7
&&t 965 1,000 1,400 2,000 1,244 93 8.1
AR FEEET (-TIE YU TIVEL, XTI U T ILEA ~5)
RKPE  |INoEE T 18 () RKHE  |IoE | 1918 ()
EHED 1,537 —fRETS 1,008
A EAT 1,450 EBHR |EESEE-RREZMA 1,005
B3 2,202 ZT B 1,239
MR (BEH) 1,165 HITRAYT 1,060
;ﬁ% FESR /58 (BEK) 1,044 ﬂ_ﬁkt%ﬁ SIRER - SRR R 996
0 = o =
SHEAA L/ S— 1,301 S 973
¥BL- EEFEEL 1,216 wma 986
®rEt 1,083 BEEE 1,051
EE T 1,205 sERE |B&S 1,002
avE= 974 RoAN—H Rt L 984
A—IN\— 968 BREEEREIEEE 1,052
(NS 4 941 Bk -ERE-F oA /\— 1,020
IR 1,343 BRN\DRY)—=2T 993
R -dEE |[7AVh-ZAER 976 =L RyRA X5 1,037
Y—ERB [H)—=2 24t 936 ER- AT | RBRT % 1,058
AV REURIER 994 TURE |y 985
FIRUIVERT 993 Rl 1,015
HEIRT 995 MR ZE 1,000
REETREG R AT 1,008
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—— 7T - 1600
Rc- R Y —EXE; 1500
) 1400
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MEY — 2 100 1151 1162 4949 1125 1114 s
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205 214
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KB FF

AIDEM

K= F 74 FOBEE TR~ 202150 A R RE~

LAKHERA) BIEER] A LR
25%ile 50%ile 75%ile xHAE AR (M) | IR (%)
P9 FR TR 1,200 2,000 2,000 2,000 1,666 213 14.7
BR%-EREY—E B 970 984 1,000 970 999 -1 -0.1
EX 1,000 1,000 1,100 1,000 1,061 19 1.8
frEY—E RB 990 1,000 1,010 1,000 1,012 15 1.5
BUERRE - K S5A/\—H; 992 1,000 1,100 1,000 1,049 2 0.2
Bl AT TR 970 1,000 1,000 1,000 1,014 2 0.2
Z0ith 1,000 1,100 1,100 1,100 1,073 72 7.2
&5t 1,000 1,030 1,600 2,000 1,294 117 9.9
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